5.1 AP Practice Problems (p. 319)

1. The critical numbers of g(x) = sinx + cos x on the open
interval (0, 2n) are
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2. On the closed interval [0, 25r], the absolute minimum of
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4. On the closed interval [0, 5], the function f x)=3—x—1

(A) | both an absolute maximum and an absolute minimum.
(B) an absolute maximum but no absolute minimum.
(C) no absolute maximum but an absolute minimum.
(D) an absolute maximum and two absolute minima.
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6. f'(x) = xsin’y ~ :é; is the derivative of a function f-How
many critical numbers does f have on the open interval (0, 27)?
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